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Command Window

New to MATLAB? See resources for Getting Started.

> A= [0 1; -2 -3];
>> B = [1;2]);

>> D = 0;

>> Xo = [-1:;3];

>> syms t X;

>> Q = expm(A*t) *Xo
0=

exp(-t) - 2%*exp(-2*t)
4*exp(-2*t) - exp(-t)

>> u(x) = 2 + S5*exp(-x)

u(x) =

S*exp(-x) + 2

>> int (expm(A* (t-x))*B*u(x),x,0,t)
ans =

18%exp (-2*t) - 23*exp(-t) + 20*t*exp(-t)
38%exp(-t) - 36*exp(-2%t) - 20*t*exp(-t)

>> X(t) = Q + ans
X(t) =

l6*exp(-2*t) - 22*exp(-t) + 20*t*exp(-t)
37*exp(-t) - 32*%exp(-2*t) - 20*t*exp(-t)
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